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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :
| ' 1x10=10
fRafRea Rofmmam tew fm (R e =) :

(a) “‘An argument is merely a collection of
propositions.”” Is it true?
“aBl & A @@ Rggm W B
<FRCB1 o1 2

(b) On what depends, the validity of an
argument?
Teq Cayel ey eore st 9c3 7
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(c) Give an example of class membership
proposition.

C TS 71 o1 Sl fian |

(d) “A valid argument can never have true
premises and a false conclusion.”

" (Write True or False)
“qb1 (Y IS o] HRA T WF GBI SIS
Pram @feme Gk AR 1

- (3o 1 Ry o)

(e) What is the symbolic form of universal
negative proposition?

AT FwdF R T B 7 248 R 9

() What is the name of the subject of the
conclusion of a syllogism?

wﬁwmmmﬁjz

(g) Which is the symbol that indicates the
foom of a compound proposition in
symbolic logic?

4O RS T ofe e I
R PR oS X ?

22A/1229 ( Continued )



(3)

(h) Does a variable contain a definite
meaning?

samﬁﬁa@@mﬁﬁﬁwwi

(i) Find out the alternative proposition from
the following :

o FRAARA o1 (R T IR e :
(i) I eat rice or bread.
2 oIS W[ # o 4 |
i (i) Either he or I shall go.
(o€ T R IW
(iii) He is alive or dead.
’ o€ Qe qR @ |

(i) According to the rules of syllogism, if one
premise is negative, then conclusion will

be

(Fill up the blank)

TR e fRaw s, I qor sE A
FfF W, (SR Pram ____ T3

(1 31 [T F41)
(k) Is truth table method -a’ ! decision
procedure?
el Sl S Gb1 CTaIfeE vﬁf@s /A ?
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(4)

() In obversion, there is a change in the
quality / quantity / both quality and
quantity between premise and conclusion.

(Find out the correct answer)

RIS AR WF PEEE TS @
ARG / ARIR R / 21 % ARTR
T RIS |

(% Tahr TR Sferean)

(m) Mention one important relation between
symbolic logic and traditional logic.

AVIIE HREA WF e S REET
TS 431 o1 S| 7 Bt 391 |

(n) ‘BOCARDO’ is a valid mood of the
figure.

(Fill up the blank)
‘BOCARDQ’ RIS b1 €34 7S |
| (418 578 o 79

(0) Who is the father of Logic?

SRR T @ 2
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: (5)

2. Answer briefly (any five) : | 2x5=10
v eq fe (R e <Hiwbt) -

(a) Mention two characteristics of argument.

e o1 CafiEy om0 1

(b) State two differences between proposition
and argument.

I S I oS 2Rl Ho1 <A1 o o

(c) Are A, E, 1, O propositions categorical or
conditional? Which term is distributed in
a negative proposition?

A, E, I, O 35K FRCr® & SIAs? s
[/ [ W W 2

(d) Define one-predicate proposition with
example. :

9% Repge v Tzgep e faa |

(¢) Name the authors of Principia
Mathematica.
Principia Mathematica S8 (3T (I ?

() Define immediate inference with example.
BHZIPIR S SEEME e fR o
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(6) '

(g) “He gave me a nice present in my
birthday.”” Find out the ‘referent’ and
‘relatum’ of this proposition.

“@8 @R wafHTe 9O TR ToRE il 1
&% IAGR FeHR’ oI TR’ AR e |

(h) What is the fallacy of undistributed
middle?

TG M (T I QG 2

3. Answer the followiqg questions (anj'/ four) : 5x4=20
fakiRe MR el fian (R e wike)) -

(a) Write a short note on (any one) : 5
59 G forat (R e i)

(i) Truth and validity
Forel HIF (ISl

(i) Square of opposition of proposition

51 R s Isfowg

(b) What is symbol? State four utilities of using
symbols in logic. 1+4=5

FoF B2 wHRare 8% IR ORG!
oo Seag w4 |
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(7)

(c) Transform the following sentences into their

logical form of propositions : - 1x5=5
TS il IWEAR SFREPHe oacal “ReT
| R

(i) All that glitters are not gold.
A S I8 G = |
(ii) Every man is li‘able to error.
oifem TR $9 44 | s
(iii) Lions never eat grass.
sz ol iz M |

(iv) Almost all people are present in the
meeting. '
T e AR oIS BoifFre wnifee |
(v) Only intéiligcnt students can pass the
examination.

@ TR YERIR S T 29
MA ' '

(d) What is simple proposition? State different
types of simple proposition. : 1+4=5

e /A I Q@A ? 3 o1 RfSH aeremz
¥, S =
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(c)

()

(8

(h)

(8)

What is logical cdnstant? State - differences
between logical constant and logical

variable. . 2+3=5
Wy SRIA IF QAT S8 RIN IF

oH TR TS I A4 o o
What is conversion? Make converse of
the following propositions : 2+3=5

TR T QAA? e SRfRe wadR
A 0 ¢

(i) All men are mortal.
SR W T A |
(ii) No men is perfect.
CRICAT TR 7= 9 |
(iii) Some men are honest.

Regam TR =W WY

State the general rules of syllogism. S

R SR RERRET Sre #90 1

Explain four-fold scheme of proposition. 5

o1 v cRRem e = |
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(9)

4. Answer the following questions (any four) :

. : 10x4=40
e s B fim (R cen i) -

(a) Define syllogism and explain its
characteristics. 2+8=10

| mmmhwﬁwhﬁ%q:wwn

(b) What is figure of syllogism? Explain
different figures of syllogism with

examples. 2+8=10
TR W P R 3w Tmaer R
RS Pz Imm 1)

fc) Define a proposition, according to the
modern logicians. Describe different kinds

of compound proposition with examples.
2+8=10

T HRTRER WS, W RS P
TRE ST oes RRYE st @ I
W

(d} What is obversion? Explain the rules of

obversion. 2+8=10
ARG I @AEA? ARTER Frrz T
01
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(10))

() What is symbolic logic? Discuss- the

characteristics of symbolic logic. 4+6=10
SN SHRER R? JBeEe SHREER
RFBPTR SICeTsAT 41 |

() Explain differences between traditional |
logic and symbolic logic. 10
seRIe HRER aF AR FReEr
TS N WP F0 |

(g) Explain the process of the application
of indirect truth table method with
_examples. 10

T SO “ATF AP e AafS Azt
I T I

(h) Construct truth table for the following and

determine the truth value of each : 5+5=10
e AR el SR 5 9 o
O Aol fAdfy 31

(i) UpDq)Dplog
(i) (p-q)v~(pvq)

22A /1229 ( Continued )



( 11)

(i) Symbolize the following with the help of
logical symbols as used in propositional

logic :

TARE HRETS INTT @ TP SO
RS oS [HAIRT AOE ol fam

(i)

(ii)

(ii)

(iv)

v)

22A/1229

‘But’ is truth functional, while
‘because’ is not truth functional.

Y oEERe, e R
STOFATS T |

It is false that Lovlina Borgohain is
not an Indian boxer.

<GB! TS (@ AR MR, ARTR
TRy IR T |

You will pass in the examination if
and only if you work hard.

PR *Riwre o= FR I wre R o
I8 M

It is untrue that students are not
intelligent.

RCB1 P77 QPR IR A |

If it does not rain,-then we shall go
for shopping.

1 g P, o Wi @ IR
W |

( Turn Over)

2x5=10



(12 )

(i) Elaborate the differences between
deduction and induction. 10

o = ST TS A9 ALFIER 52
foran 1

* %k %k
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